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4809 NANCSEC shoul d be 'long long’ to avoid integer overflow bugs
4810 spa_async_t asks_pending suffers froman integer overfl ow bug
4811 in.npathd: tv2ns suffers froman integer overflow bug
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__unchanged_portion_omtted_

221 #define | TI MERVAL_OVERFLOWi t V) \
222 (TI MEVAL_OVERFLOW &(i tv)->it_interval) || \
223 TI MEVAL_OVERFLOW &(i tv)->i t _val ue))
225 #endif /* _SYSCALL32 */
226 #endif /* _ASM*/

*

227 #endif /* ldefined(__XOPEN OR POSI X) || defined(_XP&_2) ... */

230 #if !defined(__XOPEN OR PCSI X) || defined(_ EXTENSIONS_ )
231 /*

232 * Definitions for comonly used resol utions.
233 */

234 #define SEC 1

235 #define MLLISEC 1000

236 #define M CROSEC 1000000

237 #define NANGSEC 1000000000LL

237 #define NANOSEC 1000000000

239 #define MSEC2NSEC(m) ((hrtime_t)(m * (NANGSEC / M LLI SEC))
240 #def i ne NSEC2MBEC( n) ((n) / (NANOSEC / M LLI SEQ))

242 #endif /* !defined(__XOPEN_OR PCSI X) || defined(__EXTENSI ONS_ )
244 #ifndef _ASM

246 | *

247 * Tinme expressed as a 64-bit nanosecond counter.
248 =/

249 typedef |onglong_t hrtime_t;

251 #ifdef _KERNEL

253 #include <sys/tinme_inpl.h>
254 #include <sys/nutex. h>

256 extern int tick_per_msec; /* clock ticks per mllisecond (may be zero)
257 extern int nmsec_per_tick; /* mlliseconds per clock tick (may be zero)
258 extern int usec_per_tick; /* mcroseconds per clock tick */

259 extern int nsec_per_tick; /* nanoseconds per clock tick */

261 /*

262 * Macros to convert fromcommon units of tine (sec, nmsec, usec, nsec,

263 */ti meval , tinestruc) to clock ticks and vice versa.

264 *

265 #define TICK TO SEC(tick) ((t ck) ! hz)

266 #define SEC TO Tl CK(sec) ((sec) * hz)

268 #define TICK_TO MSEC(ti ck) \

269 (msec_per_tick ? (tick) * msec_per_tick : (tick) / tick_per_nsec)
270 #define MSEC_TO TI CK(nsec) \

271 (msec_per_tick ? (nmsec) / msec_per_tick : (nsec) * tick_per_nsec)
272 #define MSEC_TO_TI CK_ROUNDUP( nsec) \

273 (msec_per_tick 2\

274 ((msec) == 0 ? 0 : ((msec) - 1) / nsec_per_tick + 1) : \

275 (msec) * tick_per_nsec)
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277 #define TICK_TO USEC(ti ck) ((tick) * usec_per_tick)
278 #define USEC TO_TI CK(usec) ((usec) / usec_per_tick)
279 #define USEC_TO TI CK_ROUNDUP( usec) \

280 ((usec) == 0 ? 0 : USEC TO TICK((usec) - 1) + 1)

282 #define TI CK_TO NSEC(ti ck)
283 #define NSEC TO TI CK(nsec)
284 #define NSEC TO_TI CK_ROUNDUP( nsec)

((hrtime_t)(tick) * nsec_per_tick)
((nsec) / nsec_per_tick)

285 ((nsec) == 0 ? 0 : NSEC TOTICK((nsec) - 1) + 1)

287 #define TICK_TO TI IVEVAL(tl ck, tvp) { \

288 cl ock_t tnptc = (tick); \

289 (tvp)->tv_sec =TI CK_TO_SEC(_t mptck); \

290 (tvp)->tv_usec = TICK_TO USEC(_ tnptck - SEC TO TICK((tvp)->tv_sec));
291 }
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